

SNS COLLEGE OF ENGINEERING Coimbatore - 641 107



$$Ay = \frac{1}{6} \int k_{1} + 2k_{2} + 2k_{3} + k_{4} \Big]$$

$$= \frac{1}{6} \int (0 \cdot 2 + 2(0 \cdot 1967) + 2(1 \cdot 1967) + 6 \cdot 1961]$$

$$= 0 \cdot 19578 \cdot$$

$$B = 0 \cdot$$

SNSCE/ UNIT 4/ NM/4.9 - Fourth order Runge - Kutta Method for solving simultaneous first order differential equations/



SNS COLLEGE OF ENGINEERING Coimbatore - 641 107



$$\begin{split} & \left\{ \begin{array}{l} & \left\{ k_{2} = h \, 4_{1} \left(x_{0} + \frac{h}{2}, y_{0} + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p + \frac{h}{2}, p + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(0 \cdot 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2}, z_{0} + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{1} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 + \frac{h}{2} \right) \\ & = \left(p - 3 \right) \, 4_{2} \left(p - h \cdot 5_{2}, 0 +$$

Dr. N.VITHYA/AP/MATHS